FroL—1 7

Suto Facing FRAME SLIDERS

HONDA CBR250R (*11-)

[L]

SLIDER L-10-85MFJ

SPLIT WASHER M10
COLLAR 30-10

WASHER M10
SOCKET

M10-65mm
(P-1.25)

SOCKET M6-60mm
(REPLACE ENGINE COVER BOLT)

[R]
SLIDER L-10-85MFJ

SPLIT WASHER M10

COLLAR 22-6

SOCKET COLLAR 40-10
M6-60mm

WASHER M10

SOCKET
M10-70mm
(P-1.25)

USE STOCK
ENGINE MOUNT BOLT

COLLAR 24-6 SOCKET M6-60mm
(REPLACE ENGINE COVER BOLT)



